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Systems of Equations Date:

Solve each system of equations.

1) 8x + l4y=4 t2) —10x +2y= -6
-6x—T7y=-10 6x — 16 y=48
X = y: E X = y:
3) ~5x +y=-3 i4) 6x —Ty=-38
3x —8y=24 - X —4y=-
X = y= X=__ y=__
5) 10x +7y=1 t6) —2x +2y =4
-5x—-T7y=24 - 2x+y=3
X = y= E X = y =
7) y=-38 ig) 10x —9y=—13
16x — 12y=32 P - 5s5x+3y=11
X=___ X=___  y=___
9 2y=—6x + 10 £10) x + 20y =56
10x —8y=-6 x + 15y=41

X=___  y=___ x=__  y=_

....................................................................................................................................................................................



Answer Key - www.testinar.com

1)

8x + 14y=4
-—6x —7y=-10
X = y=

10x +7y=1
- 5x—Ty=24
X = y=

y=—
16x — 12y=32

X =

2y=—-6x + 10
10x —8y=—-6

x=_____ Y=

2)

-10x +2y= — 6
6x — 16 y=48
= YV

10x —9y=-13
- 5x +3y=11

= Y F—

x=—4y=-3
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